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Musterlösung: BWE:

Aufgabe 1:
a3b ab

1.1 2: 3'e e

2

2r2s-2rs2 2rs(r s)1 2 - = 2rs· -(F---;;-) .----(~-r+-;;--s) = r - s 2

Aufgabe 2:
111

2.1 ------;
x 2x 2 + x

2-1 1- -_. 2 + x = 2x· L = {2}
2x 2 + x' . ,

4

2.23x-2<3·(5x-l)+2; 3x-2<15x -1; -12x<l;

x > _l.-. L = {x Ix > _l.-} oder L = [- 1
1
2; + oo[ . 4

. 12 ' , 12

Aufgabe 3: 1 1 2 22"X - 2 = (x - 2) ; < x - 4,5x + 4,5 = 0;

4,5 + .J20,25 - 18 4,5 ± 1,5
XI/2 = 2 - 2 ; Xl = 1,5; x2 = 3;

81(1,5; 0,25); 82(3; 1);
7

2

2=> a ~ 4,95;

4.2 2a2 = d2 = 49
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4.1Aufgabe 4:

2

Summe: 25

Notenschlüssel:
25 23,5 22,5 21 20 18,5 17,5 16 15 13,5 12,5 11 10 8 6,5 4,5
24 23 21,5 20,5 19 18 16,5 15,5 14 13 11,5 10,5 8,5 7 5 0
15 14 13 12 11 10 9 8 7 6 5 4 3 2 1 0
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